
400 600 800 1000 1200
mX [GeV]

10−2

100

102

104

106

108

1010

1012

1014

95
%

 C
L 

lim
it 

on
 σ

(p
p

→
X)

B(
X

→
YH

→
γγ

ττ
) [

fb
]

mY = 50 GeV (×100)

mY = 70 GeV (×101)

mY = 80 GeV (×102)

mY = 90 GeV (×103)

mY = 100 GeV (×104)

mY = 125 GeV (×105)

mY = 150 GeV (×106)

mY = 200 GeV (×107)

mY = 250 GeV (×108)

mY = 300 GeV (×109)

mY = 400 GeV (×1010)

mY = 500 GeV (×1011)

mY = 600 GeV (×1012)

mY = 700 GeV (×1013)

mY = 800 GeV (×1014)

138 fb−1 (13 TeV)CMS 138 fb−1 (13 TeV)CMSPreliminary

Observed
Median expected

68% expected
95% expected


